

$$3. \quad f(x) = 2x^3 - 3x^2 + 1; \quad f'(x) = 6x^2 - 6x; \quad f''(x) = 12x - 6 = 6(2x - 1).$$

$$8. \quad g(t) = t^2(3t + 1)^4;$$

$$g'(t) = 2t(3t + 1)^4 + t^2(4)(3t + 1)^3(3) = 2t(3t + 1)^3[(3t + 1) + 6t]$$

$$= (3t + 1)^3(18t^2 + 2t);$$

$$g''(t) = 2t(9t + 1)^3(3t + 1)^2(3) + (3t + 1)^3(36t + 2)$$

$$= 2(3t + 1)^2[9t(9t + 1) + (3t + 1)(18t + 1)]$$

$$= 2(3t + 1)^2(81t^2 + 9t + 54t^2 + 3t + 18t + 1) = 2(135t^2 + 30t + 1)(3t + 1)^2.$$

$$13. \quad f(x) = x(x^2 + 1)^2;$$

$$f'(x) = (x^2 + 1)^2 + x(2)(x^2 + 1)(2x)$$

$$= (x^2 + 1)[(x^2 + 1) + 4x^2] = (x^2 + 1)(5x^2 + 1);$$

$$f''(x) = 2x(5x^2 + 1) + (x^2 + 1)(10x) = 2x(5x^2 + 1 + 5x^2 + 5)$$

$$= 4x(5x^2 + 3).$$

$$16. \quad g(t) = \frac{t^2}{t-1}; \quad g'(t) = \frac{(t-1)(2t) - t^2(1)}{(t-1)^2} = \frac{t^2 - 2t}{(t-1)^2} = \frac{t(t-2)}{(t-1)^2};$$

$$g''(t) = \frac{(t-1)^2(2t-2) - t(t-2)2(t-1)}{(t-1)^4} = \frac{2(t-1)[(t-1)^2 - t(t-2)]}{(t-1)^4} = \frac{2}{(t-1)^3}.$$

$$20. \quad f(x) = \sqrt{2x-1} = (2x-1)^{1/2}.$$

$$f'(x) = \frac{1}{2}(2x-1)^{-1/2}(2) = (2x-1)^{-1/2} = \frac{1}{\sqrt{2x-1}}.$$

$$f''(x) = -\frac{1}{2}(2x-1)^{-3/2}(2) = -(2x-1)^{-3/2} = -\frac{1}{\sqrt{(2x-1)^3}}.$$

p232

$$36. \quad x^3 + y^3 = 28. \text{ Differentiating implicitly, we have}$$

$$3x^2 + 3y^2y' = 0, \text{ or } y' = -\frac{x^2}{y^2}.$$

$$\text{Differentiating again, we have } 6x + 3y^2y'' + 6y(y')^2 = 0.$$

$$\text{So } y'' = -\frac{2y(y')^2 + 2x}{y^2}. \text{ But } \frac{dy}{dx} = -\frac{x^2}{y^2}, \text{ and, therefore,}$$

$$y'' = -\frac{2y\left(\frac{x^4}{y^4}\right) + 2x}{y^2} = -\frac{2\left(\frac{x^4}{y^3} + x\right)}{y^2} = -\frac{2x(x^3 + y^3)}{y^5}.$$